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1. The Portuguese contributed many things to Kerala. In the following, which one is
not a contribution of the Portuguese ?

i) They promoted scientific cultivation of pepper and ginger.
ii) They founded theological seminaries and colleges at Cochin, Angamali and
Vaipincotta.
iii) They built the Bolgatty Palace at Kochi.
iv) They introduced new agricultural products like tobacco, pineapple, papaya etc.
A) i B) ii C) iii D) iv
2. Some of the administrative reforms of Rani Sethu Lakshmi Bai of Travancore is
given. Arrange them in Chronological order.
i) Abolished Devadasi System.
ii) The city of Thiruvananthapuram was illuminated with electric lights.
iii) Animal sacrifice was banned.
iv) Introduced patrilineal nuclear family system.
A) i, ii, i, iv B) iii, i, iv, ii C) i, iii, i, iv D) i, iv, iii, i
3. Match the following Presidents of the Indian National Congress with the years of
their Presidentship :

List -1 List -1l

a) Hakim Ajmal Khan 1) 1924

b) Abul Kalam Azad 2) 1921

c) Mahatma Gandhi 3) 1931

d) Vallabhbhai Patel 4) 1923

A)a-1,b-3,c-2,d-4 B)a-3,b-1,c—-4,d-2
C)a-4,b-38,c—-1,d-2 D)a-2,b-4,c-1,d-3

4. The Indian News Papers and its founders are given below. Find the incorrect pair

from them.

James Augustus Hicky
Raja Ram Mohan Roy

1) Bengal Gazette
2) Samvad Kaumudi

3) Hindu Patriot — Madhusudan Ray
4) Mirat-Ul-Akbar —  Firoz Shah Mehta
A) 1 B) 2 C) 3 D) 4
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1. Cunigg1SFwiser Cagermalln@ Liev LIBISMLILISaT aLpmFesi. LeTauheestannley,
6181 CumisgSFwiselesr LBIsailliL 26vev ?
) euiser et wHmitb @)esFuler yplalliich FIGLILYW 26185 @%HalNSSeiT.
i) yeuiser COs1éd, mismed) wHmib eulilsTCsr L malled @emmuiliicd
OFLhlestiEer LoHmih SIS Blmalesi.
i) oeuizser Cls1EPulle) CLITDSTL 19 YTEHTLOGHGTE WIS FL 19 GSTTTHGT.
V) euiser Lesulemev, Iyeitestnd), Liimal Cumeip ySw alleusmu ClLmipL Fenar
DN (LpHLILIDS B GoTIT.
A) i B) ii C) iii D) iv
2. Bwilsrsigai gresfl CFa) el &Lh Limulest Fev Bliouns Fi% hssnis6r ClsT(HSHLI
ULl (ReTerest. HTeveMenFLILILy HYaUDED GRLPEISELDSH@LD.
) Czeusnd wpewp @Lildsiu L g.
i) B@peuespsL b BHuLb et allerd@Gsartey Ceredlsss.
i) LOBs L) senL CFdiwi’ L g.
V) sBsaf] gl B GHLL Yool PILPSLILIBSSLILIL L F).
A) il i, i, iv B) iii, i, iv, ii C) i, iii, i, iv D) i, iv, iii, i
3. QiBPw Crapered H1EIGTaOGT BLHSEHTL FEHGVaUTHEGT 6 THNGT S6ValT
LSl 4685T(H)% @BL_G5T O)LIT(hGSaLD.
L guwied = | i guwed = 1l

a) an&FLb YLD FITGHT 1) 1924

b) <ev Hevmb gy FT1S 2) 1921
C) LO&ASLOT HMHS) 3) 1931
d) euebevrimit LIGL v 4) 1923
A)a-1,b-3,c-2,d-4 B) a-3,b-1,c—-4,d-2
C)a-4,b-3,c-1,d-2 D)a-2,b-4,c-1,d-3

4. QpPw CFiIDSST6S6T LoPYILD SyF6T HlmyeuaTiser By Csr(SSLILIL (HeTere.
9Jeurigel_Ohg Seauprest Gemgewd HessTL_pPlwaLb.

1) Gumisred Gss  —  Cmibev YsavL_ev anlsE)

2) gibeug OserpH —  grggm gmb GLonsest gmil

3) @Qpg urAwm’ -  wgEsEr G

4) Ogng-2 cv-ysuir  —  L9Cumev aym Gogsm

A) 1 B) 2 C) 3 D) 4

A -3-
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5. Assertion (A) : China announced ‘Panda Diplomacy’ with the USA and Europe, as
symbols of friendship and goodwill by gifting Pandas.

Reason (R) : China announced ‘Ping Pong Diplomacy’ to establish official
diplomatic relations with the USA and sent Table Tennis Teams.
A) Both Assertion (A) and Reason (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true but (R) is not a correct explanation of (A)
C) (A) is true and (R) is false
D) (A) is false and (R) is true
6. “Jana Shakti : A Collective Power”, a thematic exhibition held at the National Gallery

of Modern Art in Delhi, in May 2023. Which statement(s) is/are incorrect regarding
that ?

i) It marked the 150" episode of the ‘Mann Ki Baat’, monthly radio broadcast
programme of the Prime Minister.

ii) The exhibition celebrates the artistic diversity of India.
iii) The “Swachh Bharat” theme was depicted as ‘A Art’ and exhibited there.
iv) Artistic representation of 20 themes were exhibited there.

A) iandiv B) ii and iii C) iandii D) iiiand iv
7. Which among the following is not a part of West Coastal Plain of India ?

A) Konkan Plain B) Kathiawar Peninsula

C) Kachchh Plain D) Utkal Plain

8. Find out the wrong statement about Westerlies.
A) These winds blow from North-west to South-east in Southern Hemisphere.
B) They blow opposite to the trade winds.

C) These winds blow as roaring forties between the latitudes of 40 degrees to
50 degrees in Northern Hemisphere.

D) The effect of these winds is broken in Eastern Asia by the monsoon.

9. The thickness of ozone concentration in a column of air is recorded in
A) Dobson unit B) Lux
C) Beaufort scale D) Parts per thousand

10. ldentify the true statements about the interior structure of earth.
i) Core is the deepest and most inaccessible zone.
i) Mantle is mainly composed of iron and nickel.
iii) Mohorovic discontinuity separates lower crust from mantle.
iv) The average density of the outer crust is 12.3.
A) iandiii B) iii and iv C) ii andiii D) iandiv
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Fmmi (A) : LIMGSSTL_M&&emarL LMFeflILge epeotd BL L) Lopmith 6 6)6vessTenTdB)esr

FAeiesLonss, 2O\ Méasm wPmib eGraLiimeyL 6 ‘LimessTLm 19 L1aTLo& eow
g TR TR
sagewid (R) : 9Qwfdsma et 2 $GCwnsLyien @QuTesbHr 2 paysaer eIpLi(hds
Goorm ‘1981 Lkl 19 LT ww Malsss wHmid G961 G)L_ssreflav
9jewllEenar e8I NG
A) @&pny (A) wppib smgestib (R) @uesr(hib o estemio, wpmitd (R) ereirigy (A) @)er
FHWTET @IOTSHBLOTE LD
B) (A) wpmib (R) Quewr(pid 2 esrewiogmair, gy ermev (R) eretrigy (A) @)esr Filwimest
ATHHLD VGV
C) (A) ereirigy o ewrewin opmith (R) eresrig) seummesigy
D) (A) seupmewgy opmitb (R) ereirig o essewio
‘oar 759 : @@ wmL B #58 7, G 2023 @ov, C_cvelluiev 2 arar pafes Hencvufles
Csfw CasewMuie oL _ClLmnm @b SHLICLITHET SETHTLF). Q)& O TLTLITGT 61hS
IYWSEFHHGT S TRTEG.
) @ Lgswher wrsrp@r eurtlestned eeflugliyy BspF@unes “wer & Lng”
BlapsFuiler 150 augy 9FFwmudess S35
ii) sewrarl & @QBSWTaleT SVl LIGILpSSSETeLOWLS OlSTeLT(HE DS
i) “eveud Lmgd” Sib “Gup FedX” eTetImy FAL L LI (B 9BIG&G ST FLILBSSLILIL L ).
iv) 20 s@LCum@peTsaies sl LITH BB SHeuD yBIG ST ALILGSSLILIL L ).
A) iandiv B) ii and iii C) iandii D) iiiand iv
Lesteumeuaoup et 618 @Q)BFwnalesr Con@ SL_pasey FLobleuafuiesr G LGS s
@)evenev ?
A) Csmiser #o6laiaf B) s$@weunt SuspLLh
C) &4 #6leuaf D) 2.1 g6 #0euai
Qaravr_iedev (GLoemev STHMI) LIDBIL SQUDTEST WS F WIS F6TL_Pl%
A) QBs son euL_CpHedBig C5a1HLE51%5 056 YaisCsTaTSSHM aiFF D).
B) wimar cuewfls snpmisa@ 619Gy afsLb.

C) Qs smpmser a5 YaoirsGsrars@ew 40 19&M wpsed 50 19 &f euengullevmrest
9L FCgenss@ns@ @QenL Cuw Ggmis o%>CGumigev Q6v afxSHnai.

D) @pss sippler alleneray Hipd@ FWTaled LI(HaILLELHWTED 2 L SsLILBHF DS
sappler CpGeufesuiey @Csmesr Glemlallesr $igoer LF ey ClFIIILIGS DS
A) LliFeT 9ev@ B) avgav
C) uyo>Cumil’ jereyCsmed D) wmii e Gt SeyFeser
Ly OGSt 2 1" 1) emLoLiL] LHmIL o GRTeLOWITET BIHENBEEGT GHL_IITATLD HT6RTaLD.
) eOLOWLDTETEI QYLPLOTGT LOPMILD 9JSVYI% (LPLYUITS LDGRTL_GULDTSLD.
ii) Guoeinged wpdFwions @ pLbLy PDILD HEH6D HBWMDDID 6T
iii) GorGannGurailds Qe Bnidsd p CoGevr’ L s Goetye @Q)bhsl LINSH D).
iv) Geuafltiyp CoGevrl’ L g&esr ggnaf oy_isS 12.3.
A) iandiii B) iii and iv C) ii and iii D) iandiv
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11.

Which among the following is not a tributary of Chalakkudy River ?
A) Kuriarkutty B) Sholayar C) Kothayar D) Karappara

12. ldentify the scientific satellite launched by ISRO on January 1, 2024 to carry out the

13.

14.

15.

research in space based polarization measurements of x-ray emission from celestial
sources.

A) DS-SAR B) XPoSat C) Aditya-L1 D) RISAT-2BR1

Which of the following statement(s) is/are correct about development banks as
gap fillers in the economy ?

i) Catalysts of industrial development.

ii) Provide channels of capital, enterprise and management.

iii) Offers medium-term, long-term, and short-term finance to entrepreneurs.
iv) Offer a package of financial and non-financial assistance.

A) Only (i and iii) B) Only (iii and iv)

C) Only (i, ii and iv) D) All of the above (i, ii, iii and iv)
WTO terminology : agricultural subsidies are identified as boxes. So human
development issues in developing countries come under

A) Blue Box and S&D Box B) Green Box and Amber Box
C) Green Box D) S&D Box

Which of the following statements are correct about registered taxpayers under GST ?
i) E-payment can be done through cards and UPI.
ii) Registration is to be given by the central tax authority on a common e-application.

iii) A person having multiple businesses in a State may obtain separate registrations
for each business.

A) Only (i and iii) B) Only (i and ii)
C) Only (ii and iii) D) All of the above (i, ii and iii)

16. The introduction of new economic policy in the Indian economy has accepted the
challenges of facing globalization in India. Which statement is correct about the
devaluation of the Indian rupee to make international adjustments ?

i) Nearly 20 percent.
i) Between 5 percent to 15 percent.
iii) More than 20 percent.

A) Only (i and ii) B) Only (i) C) Only (iiandii) D) Only (i and iii)
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LieiTeumeuaTaupmle 61% FIVSEGLY YDDIGT HIHERT b5 eV6V ?
A) glwuigL iy B) Gamenewimi C) GCsmewgwimi D) smyciumgm
1%V Gy o 1hlipresigl eumer epevmisafled g allewrleuall 9ig L6 L ulevTeT

slpaupenarliL) yeralbsaflcd yrmiidd Guplsrarasnsis gereum 1, 2024

9ty @avCmeured ereuliLil’ L yplafwed Frihs ClFwmHenss:CaTenar 96 wreLD
&TGTGYLD.

A) DS-SAR B) XPoSat C) Aditya-L1 D) RISAT-2BR1

CummpertsTis&Hed @eoL_Oleuaf Blolilserts cumkifsemer GobLhSseus LIHD
Les1euHLD WSenFHalle) 615 Filwimesg) ?
) Qsmplevgiemp cuarid@uiler alearysFsearnts ClFweLI(BHS6b.
i) eLpevsestid, BlmiaiaTib oW BlienssG e CreaTevEemar auLpEIEH6D.
iii) Glsmpflev pearCaunms@ BHSST HTev, B Mo LOHYILD GnIFW HTev HlEHenu

QULPBISH B DI
V) B9 o B cvevns o sallsaller Cl&m@LiIenL aupEIGS6D.
A) Only (i and iii) B) Only (iii and iv)
C) Only (i, ii and iv) D) GwGev 2 sitar yeneggid (i, ii, i and iv)

WTO Glempser : alleugmus oneswmiser O 19 $6TTS 6oL WTTLD HT6RTLILI(HSGIDET.
eTa1Geu auar(hLd Br(hsened oesig uaTTFFL LNTFFeeTHer (Q)F6T SLp 61 (h% oD 6o
A) Bev O’y S&D Gl ig B) wdews Qi g wommib bt Gl g
C) ugews QL 1y D) S&D Glui’ig
letavrg uilest Grp LBey ClFwiwui L euf ClFadaCoaumt LiHp) LNereuHLb
IYWFEHHaleV 615 Filwimesg) ?
) smi@aser wpmib UPI epevid 1Hetr-Licwith OFepidaise.
i) e Clumgiaimet LOGT-aessTewnTLILISSH6T L% LSDw aufl B STISSM6V LISy
Qauiwcin_ Gauesr(HLb.
i) g rBlevsFed L euesslsBIGmaTd CETeTL Gh BLIT G616lam(H
el FSF D@L seflssasilwner LG eysemarts GlLpeTLD.
A) Only (i and iii) B) Only (i and ii)
C) Only (ii and iii) D) GuGev 2 ditar yewarsagiLh (i, ii and iii)
@pPwrr ClurmernsmisFed yPw OClumrmertsrgs 6lsmerensuler omLpsLd,
QB wralleh 2 VHLOWILDTESE 6TH TOSTETEHLD FouTOSHE QT 61D MIS% 015 M6 (BTN

FiouGsF apprIseard OlFiiw Qp&Hw epumuieT wHLid GepLiL) LUHOL 6Ihs
MG Flwmeag 9

) @ gs 1L 20 ssaisLb.
i) 5 #zaisdb (s 15 F5ai5LD cueny.
i) 20 5655590 GLocv.
A) Only (i and ii) B) Only (i) C) Only (iiandiii) D) Only (i and iii)
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17.

In which committee recommendations were the major changes in direct and indirect
tax policies in India accepted ?

A) Chelliah Committee B) Narasimham Committee
C) Sen Committee D) Kelkar Committee
18. The most difficult task of modern Indian planning is
A) Plan preparation B) Target fixation
C) Mobilisation of financial resources D) None of these

19.

20.

21.

22.

Which one of the following statement is not correct about Fundamental Rights ?
A) Fundamental Rights are justiciable in character.

B) Fundamental Rights are enumerated in Part 11l of Indian Constitution.

C) Right to Property is not a Fundamental Right.

D) Article 51-A deals with Right to Education.

Match the following :

1) Article 356 a) Presidents Rule in States
2) Article 325 b) Universal Adult Franchise
3) Article 76 c) Attorney General of India
4) Article 368 d) Amendment procedure of Constitution
Select the correct codes from below.
1 2 3 4

A)a b ¢ d
B)a ¢ d b
C)c a b d
D)d b ¢ a

Identify the correctly matched facts below.
1) 44" Constitutional Amendment Act
2) 86" Constitutional Amendment Act
3) 42" Constitutional Amendment Act Mini Constitution
4) 91 Constitutional Amendment Act Anti defection Law
A) Only (1) B) Only (1) and (2)
C) Only (1), (2) and (3) D) All are correct

In which Constitutional Amendment Act reserves one-third of all seats for women in
Lok Sabha, State Legislative Assemblies and Legislative Assembly of the National
Capital Territory of Delhi ?

A) Constitution 106" Amendment Act, 2023

B) Constitution 104" Amendment Act, 2019

C) Constitution 101t Amendment Act, 2016

D) Constitution 103 Amendment Act, 2019

-8-

Right to Property
Right to Education
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17. @BFwraled Cruiy opmib enpLps ufld Glasmetenssaich ClFdwulil L Lps&Hw
LOADDBISET 6ThGd & (Lpalest Liflbgiengullest Ly IDSHLILIL 1 6o 9

A) Qasvemeowim @ Lp B) mu@ibioid @p
C) Glger @up D) Gsevair @p
18. pafer @QBFw S L 1AL cS6r LS LD HL9 GSTLOTET Licsst]
A) B 1b swnidsed B) Qed@ Bliewrwid
C) K% ysmiBisemar ol (HFev D) @eau e1510yb @)evemev

19. 9y liveor o Mewioser LPHD) LI6TaUIHLD FnDmISalley 618 FAWITETSH 6v6V ?
A) 9SPuTUSH 6O YLYLILIDL 2 MEDHLDFGT BIUIMUILDTCTED .
B) Q9w yrfweveniorifer Li@® I@ed 9yuglitienr o Mevioser
U 19 weSL_ L1l (heTereyt.
C) Qenggifenio gpp SyLyLiieor_ 2 Mevip yevev.
D) 9fey 51-A sevalldsrer 2 Mevvawsd GPEFDS.
20. ereummeuataipnenml CLImBSSa LD
1) 9fey 356 a) wplevriseied TS L&
2) 9fley 325 b) wefleuiged oy e obLigmciTenFev
3) Yfey 76 C) QpFHwraller o1 ies Glegeryed
4) 9Mey 368 d) <orPweem o196 F(HSS B L (LpeHD
GG @Qwpa Filwrest GpoluiGsamend Csin0)sHS%Ha Lb.

1 2 3 4
A)a b ¢ d
B)a ¢ d b
C)c a b d
D)d b ¢ a

21. G gMwns CUTBEBW 2 GTEHLOFEGT WL WITGTLD HTGSSTa LD,
1) 44 eug yrFwevewioliyg FHSsF FL L 1b — OlFnsgflenLo
2) 86 oug YrFRwevedLolilS F(HSSF FLUL b — FSOINEHTET 2 MenLo
3) 42 cug yrFweeioliyg HwSsF FLUL b — hlest] rFwevenioliLy
4) 91 eug rfwevedioliL|d HHSSF FLUL 1D — SLGFINISNISE 615 ITes FL L LD
A) Only (1) B) Only (1) and (2)
C) Only (1), (2) and (3) D) wemergsib Filwnetene
22. 61 YIFWeeLDLILS B (55SF FL LGB Caurdsim, omblev FL L LOGTDEIGET LoHMILD
CasFw semevpsii 1gevadlufler L1 11 CLgemey B weumppled CLIcsTSEhs%E eLpEITIey
R(H LIBIG @)L _BISGT @555 (hGTaTET.
A) ofRuwevenioriy 1066aus DwsssF FL b, 2023
B) wr@wevenioiiy 104eus Swsss 1 1b, 2019
C) wwSwevenioriy 101eus Hwssd 1 b, 2016
D) wwfwevenioriy 103eus Hpssd 11 1b, 2019
A -9-
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23. Which of the following statement(s) is/are correct in relation to the Judgement of
Electoral Bond Scheme Case ?

1) On February 2024 Supreme Court struck down Electoral Bond Scheme as
unconstitutional.

2) The Electoral Bond Scheme violates the right to information and freedom of
speech and expression under Article 19 (1) (a) of Indian Constitution.

3) The court rules that the Amendment to the Companies Act which allows blanket
corporate political funding is unconstitutional.

A) Only (1) B) Only (1) and (2) C) Only (2) D) All of the above

24. Which one of the following statement is correct about Elections in India ?

A) The Election Commission of India is appointed by the Chief Justice of Supreme
Court.

B) Articles 324 to 329 of Part XV of the Constitution lays out the legal-constitutional
framework for holding elections in India.

C) Articles 352 to 360 of Part XVIII also deals with Election framework in India.
D) There are five full time Commissioners in Election Commission of India.

25. Consider the following statements related with Kerala Administrative Service (KAS)
and find out which of these are true.

1) The objective of KAS is to build a cadre of public servants as a second line of
managerial talent for Government for effective implementation of Government
Policies and Programmes.

2) KAS consist of — KAS Officer (Junior Time Scale) KAS Officer (Selection Grade
Scale) KAS Officer (Super Time Scale) — Officers.

3) An Officer joining the KAS shall start his career in the Junior Time Scale Trainee
in the State Service.

A) Only (1) B) Only (2)
C) All of these are correct D) Only (2) and (3)
26. Primary objective of ‘The Kerala Stay of Eviction Proceedings Act, 1957’ was
A) To provide agricultural assistance to cultivators
B) To give relief to Janmis
C) To give compensation to Landlords who loss land due to agricultural reforms
D) To stay eviction of tenants, kudikidappukars and certain other classes of persons
cultivating land
27. Which of the following statement(s) is/are correct about Kudumbasree ?
1) Kudumbasree was set up in 1997.

2) Kudumbasree has a three tier setup for its women community network with
NHGs, ADS and CDS.

3) Kudumbasree is the poverty eradication and women empowerment programme
implemented by the State Poverty Eradication Mission of Government of Kerala.

A) All of the above B) Only (2) and (3) C) Only (1) and (2) D) Only (2)
A -10-
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6T CLmyeb LmessL” (Csigeb LSHT) B L aupd&Hest iy C&miins Lo LD
Fn DS 615 FAWTTH 2
1) Wdgeuf 2024 gyeiiny o d& hPweipid Csised LSH IS DL L Sens
BLps@eTUDDS e1ar 155 0FUISS).
2) Gsiged LSHIS B L 1b, @QBHw yrRweveoiier 19(1) (a) Wfallsr Ep ssaicd
9Bluyib o Meoio opmitb CLIdSH LPHMILD F(hSHIF F55bB TS LONIF DS
3) Blmieuestiiseaflesr 1L GFBSSLb, STLILCrl. rflwed K salleow 9ienLo%)d@Lb
FLL_SFD@ (LpIewTTesidl 616 BFLoepLd SiliLieEHma).
A) Only (1) B) Only (1) and (2)
C) Only (2) D) Guwle o drar oeneidgib
@BGwralled Caigevser LPP) LleTaHLd FnpmiFailcy 615 FMwmers ?
A) @pFw Csiged Y emennuLd 2 &F BHLO6HTD Senevento HHLIGWIT FbSHILIGFDS).
B) wr@weveniorieit XV L@@ uileir 324 psev 329 euengullevnes Lifleayser.
@pFwralles Caigevsenar bL_sHausnHTRT FL L LILTel HYTFLIELOLIL]
SL L LI IeOLDSFHDG].
C) XVl ug@uilesr 352 psed 360 euenguilevmes sL° (hevuser @QpHwraley Cspigev
SL_L_GLDLIGHLILILD GO ILITGTHGHDGHT.
D) @psw Czisev gy menTidPed @bg (oL CHI Y eERTIWIHET 2 6T
Cager Blieuns Cxenar (KAS) Clasr_iiLimes L96101(hLd MdensHe61d &(5d5 60
s re1(®), QeUDBIGD 6TF 2 GTEILD GTGTLIHES FHUTL 1l LD,
1) 9usmsiss GCsrearensser oHMID L L BiIFear SpibLil_ ClFwWdLIBHSSHIUSDHTSH
9 TFTEISSDDEH TS [blTeunsd Bpewioullet (Q)Tenr_meug eufenFwns s
ser uiisafler sy 2 ounsGaGs KAS @)er Grrésioms@ib.
2) KAS gz — KAS o@smi (egoaflwi eoib avBsed), KAS osnf (Csiay s
a1y Bsrev), KAS o@smi (@Liui e ib avBs6d) oyGsmiser.
3) KAS @eb CxpLb p(h %%, 9gF Creneuuiled ggdesfilwi Crr gyeralevmer
LD Pwirergns serg Lessileowd QFm_mis Couews(BLb.
A) Only (1) B) Only (2)
C) Qeveu Yyewesgab Filwmesteneu D) Only (2) and (3)
‘Cagart avCL 9oLt e1algwgetr (QeualCupm) BLcuysesser s b 1957 @)er
wpseTenLo GpbrsLd
A) aleusmuisend@ alleuFmu 2 Falsear 6ULpBIGHSB60.
B) gandsens@ Sleumgentib aupmis Gouesst(pLb.
C) aleusmu FiGwssnisarmed Hodens QLpdh@Ld Hlev o Mepiowirerisends@ QLoLiLi®
QULPBISHSEV.
D) Alevdemns LdMBLD &SSOESTITHET, GLFBL_LILSSTIIST LoHMILD LD GO L
@ Liereny OeualCupniaiemsd &BSH HnISsHIHe.
@@L LDD) L6 TUIBLD FmpHmIFeaned 615 FMliTesig ?
1) @@ uwf 1997 @6v flayauli L gj.
2) @Y st Gluessser Feps auanevwenolinsrs NHGS, ADS wpmib CDS
2 L G eLpGIm) (B LOLIGHLIG Ol TeosT(B6iTenTs.
3) %@Lbu@’ e16d1LIg) CHgar IFest omblev aumienLs LAILIL Q)uwidHds5 T
FWDLIRSSLILIGLD eunIeLd GUOILIL] oPmiLh ©O)LIGSSTS 6T S TILD61fd G LD

S L_1bA@GLb.
A) GoGov 2 diter 2je»eid g Lb B) Only (2) and (3)
C) Only (1) and (2) D) Only (2)

-11-
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28.

29.

30.

31.

32.

33.

34.

Kerala State Disaster Management Authority is a statutory non-autonomous body
under the Chairmanship of the

A) Governor of Kerala B) Chief Minister of Kerala
C) Commissioner KSDMA D) DGP of Kerala Fire Force

Which one of the following statement is not true about AKSHAYA ?

A) The mission of Akshaya is to bridge the gap between the ‘information rich and the
information poor’.

B) Akshaya provides a platform for Government to citizen services through a public-
private partnership.

C) It serve as an agency of recruitment for local self government.

D) Akshaya provide efficient, transparent and convenient services to the citizens
through ICT.

Protection of Women from Domestic Violence Act passed by the Parliament in the year

A) 2005 B) 2006 C) 2004 D) 2007

Match the following :

1) XI™ Schedule of Constitution a) List of functions to be performed by Municipalities

)

2) Xl Schedule of Constitution b) List of functions to be performed by PRI’s
3) Article 243 A c) State Election Commission
4) Article 243 K d) Gramasabha

1 2 3 4
A)c d b a
B)b d a c¢
C)a b ¢ d
Db a d c¢

Which bill of the Kerala Legislature got assent from President of India that reserved
and referred to the presidential assent by the Kerala Governor in the year 2023 ?

A) Kerala University Laws (Amendment) Bill, 2022
B) University Law Amendment Bill, 2022

C) The Kerala Lokayukta (Amendment) Bill, 2022
D) University Law Amendment Bill, 2021

writ is a judicial remedy in the form of an order to any public authority to
perform a duty.
A) Mandamus B) Prohibition C) Quo-warrento D) Certiorari

PMKSY is an important government Scheme related to
A) Social Welfare Programme of Senior Citizens
B) Water Conservation Management
C) Literacy Programme
D) Women Empowerment Programme
-12-



41/24 -T

28. Gagar omblev Gt GLOGTESTEDLD 9, eRTIILD GTGHTLIS] SGUELOUTGHT GLp 2_6iTaT
FLL_LIie0 STl §) evevTH 9ewLoLILITELb.
A) Gsper sauiesit B) Gsper wpseveurt
C) KSDMA @)eirgyememstiit D) Gsger Gwewewriiyls e _ulesr DGP
29. yF@pwreeuls LHOHIw LIGTUBLD FnpDMIFailch 618 2 GETEnLOLIGHGY ?
A) Fpwnallest Grndsib ‘9F% $H6160 LOHMILD GHODHSSFISH @RS @)ewL_Guwr o 6rar
@enL_Gleuaflenwd GampLILIGTGLD.
B) Qung-geflwimi gal’ L messienio eLpevLd IFTBISSE 60 (hhSI (G L9-LDdS 6T
CFemaus @@ FPT Q(Ih SMSNS ULPBIGHFDS .
C) @a1 2 direonsit Fw YpFMBISSSDHHTEST YL CFiLIL BlmieuaTons OFweOL BB DS
D) wygguwim ICTepevid Gmewrowinest, GlevaflliLien wimes LoHmILh aUFS wimeT
CFenalsear &Ly 055 Eh% & aULBIGHFDS.
30. @@ u eustLpenD S BhE OLIGHISGTLI LITGISTEHGLD FL L LD LITITEHLOGDSEST6D
BleopCoupmrii’ L y6ur(h
A) 2005 B) 2006 C) 2004 D) 2007

31. Wereumeuaraupeypls ClLmmsg :

1) @uPweenorner Xl eug 9y L_aienesst a) paITl Fseriey ClFuiu Gauessrig w
CeweLmTBHEHeNeT LIl 19 uIed

2) ofwevenioriier Xlleug oy 1L aienest b) PRI sér Qeuiw Cauessrig wi
OewevLimpEaier L 19 ui6d

3) 9fey 243 A C) wmblev GCpised g e»ewTiLD

4) 9fley 243 K d) @gmoseou

1 2 3 4

A)c d b a

B)b d a c

C)a b c¢cd

Db a d c

32. 2023 gib Yyeriged GCoHgar YuFTBISSHSTD GLYWUTHS FSVaUMGT QRLILISWISHSE
RFIGSLILIL L opmiLd LifbgIengdsliul L Cager FL L o msSSeT 61bs oCFiSTailln @
QBSw REMGUSUIL_LOBES RLILISD Sl S55I.

A) Gapgerm LcvsemevdhHLpS FL L EBI%6T (H(5SsLD) oCFIgT, 2022
B) uevsemevdsps L G hds wGFism, 2022

C) Gsger Cowvrsyussm (Hmwssib) wBsmrsm, 2022

D) usvsmvssps FL Hpds wGFism, 2021

33. AL 6T6dTLIG @(h HL_emLoedwd Glauiw 6158 0leun s ClLIng S mIsSnELb
R 2337006 a1 0ISHD @@ FESSIPD FiaITGLb.
A) pressL_Lpev B) yGumandlifeyer C) &Geum-eumgessiGr_m D) Glarig Guimgr)
34. PMKSY ereirLig QB TL_TLINGT (LLEHWILDTGST IFTBISS B L LDM&LD.

A) epss &Ly L0dSafleT FeLps pevd BIL L LD
B) #i ungysmiy Guevnessento

C) erwpdspa) G’ ib

D) Quessser 9B smyoaid@d S L b

A 13-
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35.

36.

37.

38.

39.

40.

Which of these statement(s) is/are correct ?
1) MGNREGA launched in 2005.

2) The primary objective of MGNREGA Scheme is to guarantee 100 days of
employment to rural households.

3) Wages of MGNREGA must be paid according to the statutory minimum wages
specified for agricultural labourers in the State under the Minimum Wages
Act, 1948.

A) Only (2) and (3) B) Only (1) C) All of the above D) Only (1) and (2)
What is the limit of time to get the information regarding the life and liberty of a person
under RTI ?

A) 30 days from time of request B) 15 days from time of request
C) 24 hours from time of request D) 48 hours from time of request

Which one of the statement(s) is/are true to plague ?
i) Itis caused by a pathogen called Yersinia pestis.
ii) It is transmitted through mosquito bites.
iii) Its vectors are fleas.
iv) Blood stream and lungs are infected.
A) Only (i and ii) B) Only (iii and iv)
C) All of the above (i, ii, iii and iv) D) Only (i, iii and iv)

Which one of the statement(s) is/are true to Aardram Mission in Kerala ?
i) It aims to upgrade existing PHCs to FHCs.
ii) It aims to provide Covid-19 vaccine to all people in Kerala State.
iii) It aims to provide training to the field staff on NCD and CD health issues and

management.
iv) It aims to develop facilities for fithess and yoga.
A) Only (i, iii and iv) B) Only (i, ii and iv)
C) Only (ii and iii) D) All of the above

Choose the right statement for Angiogenesis.

A) ltis the state of development of cancer cells in bone marrow.
B) The development of new blood vessels.

C) The term to define regeneration of hepatocytes in liver.

D) The process of secretion of growth hormone.

Which of the following statement is true to Vitamin A ?
A) Excess consumption of Vitamin A causes development of Microcystic anaemia
and Pernicious anaemia.
B) Pellagra and Depression are the two major symptoms related to hypovitaminosis A.
C) Deficiency of Vitamin A causes Night blindness and Xerophthalmia.
D) Hypervitaminosis A causes softening of the bones in children.
-14-
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35. @b5d Fmpmiseiley 615 FRwmetsg o
1) MGNREGA 2005 Qv Glgm_misii’ 1 gy.
2) MGNREGA 81" 1_g8letr (pgeirenio Cprdsid Somiolip &G bLimkiseps@ 100
B 61 Cousmeveuniitienls o P ClFuicusm@Lb.

3) MGNREGA @)sit serGlwimiser GeppsL s sarGlwé gi”L b 1948 & §1p
LrflsSsd aleusmus CSTLraTsess@$s GBI LI H6Ter s L L1Lig wneT
GODLSLLF 261 WISHGTLILG eupBISLILIL . Couer(hLb.

A) Only (2) and (3) B) Only (1)
C) GulGev 2 6irer yeesidgiLb D) Only (1) and (2)
36. RTI ullesr 81p s L6t aumpdens wpHmilb FSHS I LPPIL S5@IOSETL
LIDIQUSDSTGT HT6V DJOUSBTFLD GTGHGHT ?
A) Gsrilgens Cridsedmng 30 Bl ser
B) Casrfldens Crusoer Q) mpps 15 prlser
C) Gsnlgews Crussedmpa 24 et Gp b
D) Gsmilgens Cris®edmng 48 oewflGpiLb
37. L9Ger1d FLDLIBSLOTGS 6ThS FnDM| 2 GETEHLOWITCHS| ?
) @& QuiResflur Guevigeav ereirp Crmuis GHLOwTD aTHLBB DS
i) @& Os1%: s1yL1LST® LT DS
i) @& L9Gare L& eLpevib LIgayLD.
V) @ud5 @ L b opmitb BeoFuiged LITHSHLILIL (HeTars).
A) Only (i and ii) B) Only (iii and iv)
C) GuGaev 2 sitar gyewaewggyd ( 1, ii, il and iv) D) Only (i, iii and iv)
38. Gagemmailed o eitar 3, idud Lhawest Ol&TLfLmeTaUDPleh 615 2 GTenLs ?
) @a1 smCungierar PHCsewar FHCsat1s Guobu®ssieuans Crréswnss
16301 (h) TGS
i) @g1 Gsgar BB o itar Yy L&SERSGL Csmail-19 $GLILFoW
@Jép/&l@aumg BISBLOTES O M85 (H)GTeNG).
i) @51 NCD opmid CD 2 1_6d oot LIg&fenarser opmid Coraeanio &mBSs)
el Lienilwnerisend@l LunG gefliliLiens Crrésonsd 6)amess(herers).
V) @31 2 L D& wpnid Cunsredsrest auFFsemar GLolbLi(RdS a5
Crrésionss 6Ol mews(hereng).
A) Only (i, iii and iv) B) Only (i, ii and iv)
C) Only (ii and iii) D) GoGov 2 direr 2jemeidsiLb
39. 965ACunblmClerRedpsrer Fiwner yPsamsemwg Csxiey ClFwiweLb
A) @31 yppiCrmuiest auarid@uiles Flewev
B) yw Quss premsisefet euerisd
C) savebpadled GlanLiGL tensL” (haafler L5ehHeuTdSs5m% auenTnidb@Ld C)FTeL
D) ewemid® ammiGLomest &yd@Ld OFwedLpenm
40. deteu@pLd ampmisaflev 615 emeul’ L Lhlest A &@& Filwmess 2
A) eeul’ L 1hest A @)t SLILIQ WITEST B%T6 eondCrnFlevigd gyesfblwm ommiib
) OieslFuwran g{%@ﬁ/‘?@ﬁ?m G)L_Iq_GIT/T&f@G%)lLI g‘mu@ggj%?pgj e Pl
B) @u@)@)ﬂa;gﬂ nih LoeFCFmiey YHweas enanliCuranall’ L HCatn&Fev A
QB mL_iLimGer @é’)gm@ (LpSHW )& D FHeTTEHLD
C) eeul’ L thlest A @61 GedpLn® Quey &BL HSSesTenLo LoHmitb @GImLiGmevLblwimen ey
TOLGSS DS
D) ewaniiuieneul L theflCarr@av A GLphbansseflesn 6TaILDL|Be®@T G)LOGITEN LD WM @ LD
A -15-
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41.

42.

43.

44.

45.

46.

47.

48.

49.

Which one of the statement(s) is/are true to the Pancreas ?
i) Pancreas is an exocrine and endocrine gland.
ii) Pancreas secretes both insulin and glucagon.

iii) It regulates glucose level.
iv) All of the above (i, ii and iii)

A) Only (i and iii) B) Only (ii and iii) C) Only (ii) D) Only (iv)
Choose the correct reason for life style diseases in human.

i) Bad food habits ii) Physical inactivity
iii) Disturbed biological clock iv) Wrong body posture

A) Only (ii and iii) B) Only (iandiii) C) Only (i, iiand iv) D) All of the above
Primary Amoebic Meningoencephalitis is caused by

A) Naegleria fowleri B) Amoeba proteus

C) Paramoeba perniciosa D) All of the above

Which of the following statements regarding isolation during COVID-19 is/are correct ?

i) Itis used for people suffering from COVID-19 symptoms or who have tested
positive for the virus.

i) In isolation means being separated from other people, mainly in a medical facility
where you can receive clinical care.
A) Only (i) B) Only (ii) C) Both (i and ii) D) Neither (i) nor (ii)
Name the phenomenon where electrons are emitted from a material when it is
exposed to light of sufficiently high frequency.
A) Photoelectric effect B) Compton effect C) Doppler effect D) Hall effect

The phenomenon that explains the separation of light into its constituent colors when
passing through a prism is

A) Reflection B) Refraction C) Dispersion D) Diffraction
Which of the following electromagnetic radiation has the longest wavelength ?

A) Infrared B) Ultraviolet C) X-rays D) Gamma rays
Which rocket is used in Aditya-L1 ?

A) PSLV-G51 B) PSLV-C51 C) PSLV-C57 D) PSLV-L57

Which statement(s) is/are correct regarding chemical bonding ?
I) lonic bond is formed between electropositive element and electronegative element.

II) Covalent bonding is formed between electronegative element and electronegative
element.

[II) Coordinate bond is formed between electropositive and electropositive element.
V) Metallic bonding is formed between electropositive and electropositive element.
A) | only B) Iand Il only C) I, Iland IV only D) All of the above

-16-
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SEGRTWILD FLDLIGSLOTGS 6ThS MEeHH 2 GUTEHLDIITEES] ?

i) sewewTwih 6163LIG 618 CavnHenret opmiLd prerhlevevr FHyLiLd.

ii) sewewiib (Q)es1H606HT LOHMILD &6HCHTHGHT (Q)TevsTenL LD FHISE DS/
i) @& @epsCarav yarenes @(LpBIGLBHSSIB DS

iv) GG 2 siter yemersgLb (i, it and iii)

A) Only (i and iii) B) Only (ii and iii) C) Only (ii) D) Only (iv)

weflsefler aumpseans penp Crmiissmet Fiwrest srgesansgsd Csih0)s(hsSa LD
) supTeT 2 ewiayll LILpSHLD i) 2L 6b 2 ewpLiiesTenio

i) wmpb YyeL_pg 2 udMwed s sTID V) SaupreT 2 L6 Csryenest Blenev

A) Only (ii and iii) B) Only (i and iii)

C) Only (i, ii and iv) D) Gule o ditar eneidsib

pSeTemLd YLBL9% CoaflBICHT 616570)FLITESg eV 60 aIDLIBHF DI

A) QpsCevfwim o%CLmGeurf B) woyfum yGumi g wiev

C) wumglBum Quiies|@Cuingm D) GoGov 2 direr 2jemerdgiLb

Camaill -1961 Cuing sefleniols LIBSSLILIBUG ClGTL_iLime LI6TauHLD MSenFHHailch
61| FWTesTg ?
) @a1 Caraill’-19 il GPlsarted LTHGHLILIL L aIi%HEhsh @ VWS eI DdhE,
Griivenp CFngemert ClFuISalisehd@ LIWGTLBSSLILIGS DS
i) sefleoliLiBSS6eV 6160TLIG LoPmeuiseafl_OhBE LINSSLILIRM®SSE GHDISH DS,
(LPSBUILDTS [bBISGT LO(hSSHI0U HeUGHTILIGHLILI G%upa’saaxu;_u_l DS QT
A) Only (i) B) Only (ii) C) Both (i and ii) D) Neither (i) nor (ii)
Qummaelest 5% B son6sT 9PiT0)eussst Glsmevs_ Gleualdab L(LbCLingy,
%gil;gﬂ(g&rasaﬁ @e%lmﬂl_%@m ‘[5765!;)@@57657 Quwengs @M _eayb !
A) %G G eTevd” Md alevaray B) smbii_cir alenarey
C) Lmdert alevarey D) amred aleneray
aflwmesig @b Liflovsens sL_d@b CLng s 6T dm Bprisernsl L9fLems
adlardh@Lb HlasLpay

A) LSy (Mo%L10)erdmgetn) B) gaflallevsed (Mlo’LsGaampssn)

C) fsmad (1geav6)Liiayes) D) wamiin® (190518 ygepeir)
LesTau@pLd 61 LOGTSTES B Talds Hewrl_ eV Harsensd 0% et (heTeng) ?

A) sFHailiy B) ym sergm C) X-s@ismer D) smwons@iiser
% Pswr-L1 ulev 6155 1105 LWweTLIRSSLILIGB DS ?

A) PSLV-G51 B) PSLV-C51 C) PSLV-C57 D) PSLV-L57

@ uamwest LewewntLiL) O\FTL_LITS 61h% IYWbeds FMlwmes ?

) erevd” Gum L@ 1961 2 myLiE@GL eTevsL Gum GlpsLg 6l 2 miijd@Lb @)oo Gwr juwiesf)
LIenewTLIL] 2 (FUTHDSF].
) erovs Cunlpsiger o miliyd@d 61evdh Gum QBsiger o mlida@Ld Qe Guw
CameaueuetL LiewewtiiL) o (KaITH D).
) erevs Gum ur@L 1961 wPmb etevd Crr U@L 196 2 YIS ErsE Qe G
RbEIBOeRTLIL] LIenenTLiL] 2 (heundhsLiL(bh S D).

V) erevs” Cr Lin@ 1961 LopmyLh eTevd L Cum L@ 1961 2 piiysErsE @enL_Gw 2 Cevrns
LlemenTLiL] 2 (HoUTEH DS

A) | only B) land Il only
C) I, lland IV only D) GoGov 2 direr 2jemeidgiLb
17-
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50.

51.

52.

53.

54.

55.

56.

Which one of the statement is not correct about Helium ?

A) Helium has lowest boiling point of any substance known.
B) Helium I is normal liquid and Helium Il is super liquid.

C) Helium forms liquid under high pressure.

D) On cooling Helium becomes liquid.

Which of the statements are correct regarding solubility ?
[) If the solute and solvents have similar chemical characteristics then the solubility
is high.
Il) Polar compounds are highly soluble in polar solvents.
[l) If the solute and solvent have dissimilar chemical properties then the solubility is low.
IV) Polar compounds are highly soluble in non-polar solvents.

A) land IV only B) Iand Il only C) I, lland lllonly D) All of the above
The Indian photojournalist who executed by Taliban ?
A) Farhat Basir Khan B) Victor George
C) Dar Yasin D) Danish Siddiqui
Find out correctly matched pairs from the following.
I) Koodiyattam — Mani Madhava Chakyar
[I) Mohiniyattam — Muzheekkal Pankajakshi
[ll) Kerala natanam — Guru Gopinath
A) land B) Il and Il C) land il D) I, Il and IlI

Find out the correctly matched pair of novels and corresponding major character
from the following.

[) Bheeman — Randamoozham [I) Mujeeb — Adujeevitham
[ll) Chethana — Aarachar V) Appu — Odayilninnu
A) Il and Il B) land lll C) I ITand 1l D) I, llland IV

Find out the pairs in which the original name of the writer correctly matches with
their pen name.

I) Nandanar — P.C. Ramachandran [I) Anand — K. Sachidanandhan
[lI) T. Ubaid — Abdul Rahman IV) Vilasini — M. K. Menon
A) landll B) I, lll and IV C) llland IV D) Il and IV

The names of different sports items and number of players are given.
Match the following :

a) Polo k) 9
b) Rugby ) 15
c) Volleyball m) 4
d) Baseball n) 6
A)a-mb-Il,c—n,d-k B) a—-Il,b-m,c—k,d—n
C)a-k,b—-n,c—-I,d—m D)a-n,b-k,c-1l,d-m
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aedwib LpP) e1hs YPlbes Filwmrs @evenev ?
A) 9wl L e1ps0leuny Gummeled afeSwb &eanhs 6l&rE)bemevenwid
Ol meveT(H i) .
B) afedwib | #ngmgesst Gueutb wpmitd afedwib || GLiut Sgauib.
C) afeSlwib o wir S(pS55P 6T GLp FIaudbes o (HeuTdhSHH DS
D) @efig@uilesr Cung, afedwib Srouon@ms).
S®IBD6T ClGTL_iLime L6TaI(hLd FmPmisaied 618 Filuimesig ?
) sempge wpmib senglimeiiser @G or@Muwmes CouSuMwch LIGsTLS®6TS:
O\ E MWLy (BHS TV, FEOTBDGT HYFHLOTE Q)(H%SLb.
) s10h6 SVE6USET FI(heu SETLILITGISNG LOFQILD H6DTWIETnLY LIGHG.
) sewgaed wHmib sewglitimest Goumyil’ L @ IFTWGST LIGHTLISET O)&Te8sTLY (55 T6V
S IDDET GHODUTH ()(HdELb.
V) simpeu Cariomiser Gipauomm SeILILITGTS6 LHSaLD SIS 1) LIGHEI.

A) land IV only B) land Il only C) I, lland lllonly D) All of the above
SOITEHTSATT) HISHGOI_ LU L @QBFw yewsliulL ugFheenswmernt 9
A) Suiannd LIFNT STe B) a94. i gomigh
C) Lmr wn&esr D) GLafley §$5&)
Lesreupeuatoupmedmmbs Filwnsls QummpSw Ceomgenw SewriBlwieLb.
) gogquwm’ 1 1b —  oewll LASe FASEHWIT
) Gur@eflwm ' L 1b — epfldsecd LIBISTTf)
) Gasger prerd  — @ Camimns
A) land I B) Iland Il C) landlll D) I, Il and Il

LereupateoupmeSippg FMwnsts QummpSuw Cmy BIauevE6r LoPpmiL
QBILTenL_w (PGB SSTLTSSHIBISETSH STl BIeLb.

) Lfioedr — gewst_eLpipLb ) wpedis — oy (hedadlsLb
) Gesewrr— gy gndei V) <1y — gen_uievblesres)
A) Iland Il B) land C) I, Iland Il D) I, llland IV

eT(LpS S mariest Lyemer QlLwit opmid yeuiseflesr Cuesm CLiwpL_esr Flwnsl
QunppBw Gy semerd S PliiaLb

l) pisesmi — P.C. grwdsn® yer ) yeris — K. F58s 16015560
) T. 2w — 915160 gabiores V) aflevrafletl — M. K. Groesesr
A) land B) Il, llland IV C) llland IV D) lland IV

LevCaumy aflewerwim (Hsaflesr QLwiiser wPpmib afgisaies c1evrenildsens
CasrRSSLILIL BHeTeng). LIeTalpalssTalipemmLll QLITHsES)

a) GunGeur k) 9
b) &9 ) 15
C) e&LILIbG) m) 4
d) GuevLimed n) 6
A)a-mb-Il,c—n,d-k B) a—-Il,b-m,c—k,d—n
C)a-k,b-n,c-I,d—m D) a-nb-k,c—-1,d—-m
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57.

58.

59.

60.

61.

62.

63.

Select the works of Brahmanandha Sivayogi from the following.

I) Mokshapradeepam II) Athmavidya
[ll) Athavidyalekhamala IV) Brahmasankeerthanam
A) landlll B) land I C) lland Il D) land IV

Find the correct pair of Nobel Laureates of 2023.
[) Physics Pierre Agostini, Ferenc Krausz, Anne L. Huillier
[I) Chemistry Carolyn R. Bertozzi, Morten Meldal, K. Barry Sharpless
[ll) Literature Jon Fosse
V) Physiology Svante Paabo

A) 1, Iland llI B) I, lland IV C) I, land IV D) I, I, llland IV
The names of 2024 Padma Awardees are given. Find out the wrong options.
[) Fathima Beevi [I) Mithun Chakraborthi
[Il) Sitaram Jindal V) Uma Shankar Pandey
A) landll B) 11l Only C) IV Only D) lll and IV

On which petition did the Supreme Court declared Section 66A of Information
Technology Act, 2000 as unconstitutional and struck it down on the grounds of
curtailment of freedom of speech and expression ?

A) Sharat Babu Digumarti vs Government of Delhi
B) Ekta Kapoor vs State of MP

C) Navtej Singh Johar vs Union of India

D) Shreya Singhal vs Union of India

Which of the following statement(s) is/are correct ?
i) A hub is a multiport repeater.
ii) Routers are expensive than bridges.
iii) Gateways operate only at data link layer.
A) Only (i and ii) B) Only (ii and iii)
C) Only (i and iii) D) All of the above (i, ii and iii)
In csv files, the character that separates values is known as the
A) Separator B) Delimiter C) Parameter D) Argument
The initiative of Kerala Police, in association with ISRA (Information Security Research

Association), to create awareness among students/teachers/parents on cybersecurity
and online safety is

A) Stay Safe Online B) WeProtect
C) KID Glove D) webwise
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Lestaupeuctammledphg Lgibioretnbs et Cun@uieT Lo LILSHe6rd
Caiih 0% (h%sHa Lb:

) Coreulg@Lih ) ogwaldwm
) ysalswnGevsiomeur V) 9g1bLoFmIBiigseurd
A) land lll B) landll C) lland Il D) land IV

2023 & Gpmued Ll Qupperiseiest Filwrer Cemgemwd HesstL_pHluwiayLb.

) Qupiiwed — L9QwiGy Csmavigesf), «SCILIOIEBIS Sumeien, yerest L. anduleSwii
) CouPuwed — &Cgnalesr R. QuiiGL_med), Guomit_es16)oevr_cv, K. Limfl QagitiGevan
) @ewsGwib — gresr o%>CLimav
V) o aSlwed — eveunerGr unGuim

A) I, 1l and Il B) I, Iland IV C) I, Illand IV D) I, 1, Il and IV

2024 uigLo apg ClLppeuisaiet ClLwiger ClsT(HGSLILIL (HETTET. SAUDIRTUDEDDS

FHTL_BluieLb.

) ung@iom Liad) II) g6 557601755
) Esmpmb ghevor_mev IV) o om gmisi LimesstGL
A) land B) 11l Only C) IV Only D) llland IV

61 Logyailer Cufley o && HFFieipid sHaued Glsmblevm i 1idF Fi i b, 2000 @)eir
Lflay 66A & yrFRweenol9na@ poewrTesisl elein HPalsss wHiD CLds
LDMILD FBSGIF &SHBTSMSH GH®DLUILSET g LiLienL_uled s Jd55 O\FUISH).
A) eprs LMLy GLomis® VS 6)L_cved s

B) erdsm 40 Vs wsHw 199655 omplevid

C) peiGsg A Cemami VS QBSWT gesimlwiLh

D) a%Grwm fmisned VS @Qb@wim eestpluib
L96sTeUBLD FmDmIFaflcy 615 Filwmesg) ?

i) awis eretrig) oevig Guimil” MO L 7 9y@Lb.

ii) e L_rwer LML @sear ol alewev 9FsLb.

i) G Gouser G L_medlBig Gevwfed or” (HGLo @)wiki@S eTmest.

A) Only (i and ii) B) Only (ii and iii)

C) Only (i and iii) D) GuwlGe o diter yewersaLhd (i, i and iii)
csv Gariisafled, G LiLjsemart: 9Ns@Ld 611pdsl @)LILIG LSS LILIGF DS

A) QeuCul Lmi B) el i C) umgmbi i D) <o,i&luy0)oetr”
@enenTw LTSHSTUL WHDID YT ET LTHSTLL GBS @I ewnTien el
LomewTeU g6/ A Mwiser/CupnCpmisef_b o peunss, ISRA (Information Security
Research Association) =_1_etr @Qewewsipgy Cager smaucvgienpuilest LpwnH

A) avGL CFo%Lt 9y ciTemcuaesT B) af yQurll_s1"
C) KID gGarmeis D) Qeuriemaiav
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64. Which of the following statement(s) is/are correct about 5G networks ?
i) It has ultra high latency.

ii) Peak network data speed up to 20 gigabits per second (Gbps).

ii

A

C

)
) It measures in millimetre wave (mm Wave) spectrum.

) Only (i and ii) B) Only (ii and iii)

) Only (i and iii) D) All of the above (i, ii and iii)

65. According to Right to Information Act, 2005, the definition given to the term
“third party” is

A) a citizen seeking information from a public office that is not directly related to the
information he or she is seeking.

B) a person other than the citizen making a request for information and includes a
public authority.

C) a person requesting personal information of another person or confidential
information of any entity.

D) None of the above

66. What is the meaning of ‘Juvenile’ under the Provisions of Juvenile Justice (Care and
Protection of Children) Act, 2015 ?

A) A child below the age of twenty one years

B) A child below the age of fourteen years

C) A child below the age of eighteen years for girls and twenty one years for boys
D) A child below the age of eighteen years

67. Which of the statement(s) is/are correct about the Maintenance and Welfare of
Parents and Senior Citizens Act, 2007 ?

i) Tribunal constituted under the Maintenance and Welfare of Parents and Senior
Citizens Act, 2007 shall be presided over by an officer not below the rank of
Munsiff-Magistrate.

i) Any senior citizen or a parent, as the case may be, aggrieved by an order of
Tribunal may, within sixty days from the date of the order, prefer an appeal
to the Appellate Tribunal.

iii) No parties to a proceeding before a Tribunal, constituted under the Act, shall
be represented by legal practitioners.

A) Only (ii and iii) B) Only (i and i)

C) All of the above (i, ii and iii) D) Only (i and iii)
A -20.
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64. 5G GpL Qeuris@semarts Lps) LN6TeupLd FmpDmiFalcy 615 FMwmeg ?

i) @a1 2% 2 wir CevL_cir& Glamess(BeiTens).

i) aflermgd@ 20 Blsmilev eueny (Gbps) o & GCpiL Cleurid syay Causd OlamressL_g).

i) @& hevallSi it yemev (MM Wave) glpiorewevuiled yaradl LGS .

A) Only (i and ii) B) Only (ii and iii)

C) Only (i and iii) D) GuGev 2 diter yemaersgib (i, it and iii)

65. saaucy Yypluib o Menivd g1 b, 2005, @)eir Lig, ‘epeiipaid Syl 616D
O FTONIS @ QULPBISLILIL (HGTAT 6U6HTILIGHD
A) jeueit gevevg jeuer GBI sHeueL 6T Crugwns Osm_ilvevns em ClLimg
N UVFSB O hEI FHaUmeVd CHTIHLD G5 (FLY-LDFGHT.
B) @ioser oebevns @b pLT $FH0uNIGSTET CHTMEmEEW ILILIGIT LOHMILD
OLITs ADFHTIS®S 2 GTOTL_SFNIGIIT.

C) wpOprm pufet Sl L $Fai60 gl 61BE0)aTh HnIaIcTSS T TEFw
SFHaUemeLdD CHT(HLD G(H BLI.

D) GG s1g1ayb Qevemev

66. @i 59 (GLppenssailer LgmoMiiy wPmid LmgsTliL)) s b, 2015 @)eralGsaflesr

S1p ‘G TSI TGV 616G Y idSHLD ?

A) QuSEOFTH GGG UL L GLpHens

B) u@errestg euwgid@L Ul L GYhas

C) GuemGlemasiipmed LIHOGTL (B ugSGL LIL L GLpHend LDDMILD 68575 @hdb S,
QGUSE @G UUSISGLULL GpEds

D) u@0e (b euwgS@GLrul L GLpbens

67. QupGomi wpHmitb epss GLyodser L1 tb, 2007 LgmofiiLy wpHmb Bevesr &nlss
6Th% WIS FMlwmTess) ?

) QuoDCpmi LHmIh eLpsSH @ Ly Lodselest Ligmofiiy wHmib pevd FL i b, 2007
B1p SyewdsLILL L Gitiumuib, (peflaflosli-rgev G’ Lgals@$Hs @Geapuwns
QYBFTAWTD FHVEHLD STBISLILI(BLD.

i) e1BB0lUTIH PSS SGHLyLoBeILD vevg ClLHCDI@HLD, SALILITUSSHET 2 &g TeuTeD
UT@SGSLILL L T6v, 2 dgralest CaSuled)hpg @miLIGl BT %% @6, GLocvpemufl” (B
Siiumus@n@ apriutiu’ ® Guevwpenpui® OFuiwevmb

iil) L1 S@)65 BLp YLOGHLILIL L 6 SALIIMUSED G (Lp6iT L@ LD FL_alg Senulled
616% SuLiler(sd F L 11 LudDFwrerisermey LNr% 6 F s 61001

DML L_[TITS6IT.
A) Only (ii and iii) B) Only (i and ii)
C) Culev 2 eiter Yyemenggid (i, ii and iii) D) Only (i and iii)
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68. Which of the statement(s) is/are correct about the Kerala Lok Ayukta Act, 1999 ?

i) The Lok Ayukta has no jurisdiction under the Act to take any action on the
subject referred for inquiry under the Commission of Inquiry Act, 1952.

i) The Lok Ayukta is required to submit a consolidated report on the performance
of its activities to the Chief Secretary to Government every year.

i) The Chief Minister of Kerala will appoint a person known as the Lok Ayukta to
conduct investigations and inquiries in accordance with the provisions of the

Lok Ayukta Act.
A) Only (i and iii) B) Only (ii)
C) Only (i) D) All of the above (i, ii and iii)

69. Which of the following statement(s) is/are correct about Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013 ?

i) The Presiding Officer and Members of the Internal Complaints Committee shall
hold office for not exceeding three years from the date of their nominations.

ii) A Presiding Officer who shall be a woman employed at a senior level shall be
nominated by the concerned State Government.

iif) Any aggrieved woman may make a complaint of sexual harassment at workplace
to the Internal Complaints Committee within a period of one month from the date
of last incident.

A) Only (i) B) Only (iii)

C) Only (i and ii) D) All of the above (i, ii and iii)

70. Which of the following statement is correct regarding the Constitution (One Hundred
and Fifth Amendment) Act, 2021 ?

A) The Amendment relating to the structure, functions and powers of the National
Commission for Backward Classes.

B) The Amendment empowers the State Governments and the Union Territories to

prepare and maintain a list of socially and educationally backward sections for
their own purposes.

C) The Amendment extends the reservation of seats for SCs and STs in the Lok Sabha
and State Assemblies from 70 years to 80 years. In addition, reserved seats for the
Anglo-Indian community in the Lok Sabha and State Assemblies were removed.

D) In addition to the existing reservation, the Amendment proposes a maximum of
10 percent reservation in higher education institutions and initial recruitment in
government posts for the economically weaker sections.
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68. Gsgar Gevnd usst 11 1b, 1999 LD 6165 yPlsens FMwnets o

) alFrrenent sLblawest F1 1 1b, 1952 -61 BLp allFmgenentd@ GmIIN 1Ll 1 aleyilidSesr
1531 61hs BLaulgdbesujd 61(hs%H Cevnd YussT FL L ST GLp 6Ths SHHTILPLD
@)evemev.

i) Covrd uissT e@aibleunn HaTBb yser OFweLiTHSafler CFuF DT GPSS
RBBIB OGS YBSenseml Femevenlod ClFwevfli b FLoiillds Ceussst(pLb.

i) Gevnd ussm L1 5S6T allS%Hafl6iLgy NFTIHHTHET LOPMILD QIFTTEH GETHeHET
BLSSIUSDG, Covrd ujssmeuns ypwulil L g@umeueng Csiar (Lpseveur

Blwbcim.
A) Only (i and iii) B) Only (ii)
C) Only (i) D) GoGev 2 _éitar yemesiggiib (i, it and iii)

69. wuenflui_gFev O @hd @ eIDHLIGILD LTI FGTLDISS (SHLIL], $eL_ LoPMILD

wp&remiotiny) L ib, 2013 upplw esteuapd Plsenssailcy 615 Filwmerg 2

) semevenio HFHEHTH LoPMILD 2 6T (Q)ewTsHH @ Lp@I6T 2 Wy 1L TS 9j6uTHET HlLoGsTLD
Qi L prefleSBhs) epesinl eT(HS@h%E LOSMo60 LSauieh @)BLILIMISET.

i) epds L L FHev LewwidsLiLl L CLGETSarTs () (hHEGLD @5 SEHVGLD
B HTH FhLBSLILL L 1oTBlev HYIFTEISSSTV Liflh%IenI&SSLILI(H T,

i) e1B80eurey LTHSSLILL L CueTsepd LUl GHed LT FIGTLDISS IS S
QLETTGITG, b BMIUaTsSHed 2 61 LsTT @Gupal_tb ysmi GlFiiwenib. Qs
FLOLIGILD BL_[bF BAaNeS)hBE @h LOTF HTVSHDG6T ClFuiwiayb.

A) Only (i) B) Only (iii)

C) Only (i and ii) D) GoGev 2 ditar e aiLh (i, il and iii)

70. yfweeoliy (mIHmY @bsTeus Fbssid) b, 2021 CgmL_iuins fesreumLd

FDMIHaTV 615 Fiilwmesig ?

A) Kpu®BsSsLiuL L @ Lietpdsrear CaPw e enTdSH e L L oLoLiL,
QFwevLITBHS6T LoHMILD HBFTIRISET O\FTL_TLITeST B (BSSLD.

B) wrblev gypgser wpmihd weslwesr NgCsamiser sniser Oanps Cbrdsnsepssns,
FeLps MPWrseyb P Hevall FHwrsa b Le1smISw Lfalesrier
UL uenevd Swmidsg LgTomés Qbsd HBdSHLD B FTID ealdbEH D).

C) waseremau wpmitb wrblew L semuseficv SC wpmd ST sepdsmer @)L
R515GL e 70 geawhsailcd @Qbis 80 yeow®sarts Qbs H GBS
B9 E& G Cogyitb, CevrdFum pmitb omblev FL L FenLisafled 4515 Cevr-Q)bew
FUPESDRT (5% RSHISSLILIL L Q)L_BIFKGT HEFHLILIL L Gy,

D) spCunsgierer @)L esib8L 19 D@ FnB)Be0TS, 2 1Wiseva HniaesTEiEealled 9P s FLoms
10 #3098 Q)L 51581 L _uib, ClummerTsTISH LKeigmFw LNaller s oga
usaisafled gy mibri gy CaiLiLjsemaerud @)bss HBSSLb (LpeTOILTLAF D).
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

2 Q2

Value of 37 -3

A) 34 B) 36 C) 38 D) 40
4 16 ;

If 4ﬁ+ﬁ—[2—3—(1—2)]+x:0,what is the value of x ?

A) 2 B) 3 C) 4 D) 5

xis 125% of y. If x + y = 90, then the value of 2x —y is equal to

A) 40 B) 50 C) 60 D) 70

A salesman earns a profit of 25% after giving a discount of 25%. Find the ratio
between the marked price and the cost price.

A) 5:3 B) 2:1 C) 4:3 D) 3:2

Five people can cut 20 trees in 2 days. If twenty people work for 3 days, then how
many trees will be cut during this time ?

A) 60 B) 90 C) 120 D) 150

How many times the digit 2 appears in the first 52 whole numbers ?

A) 14 B) 15 C) 16 D) 17

In a certain code language EDUCATION is written as JHPFBNRDB. How will
MEDICINES be written in that code language ?

A) ZJHRXRBJM B) YJHRXRBJP

C) ZJHRXRBJL D) XJHRXRBJN

The product of 3 consecutive integers is always divisible by
A) 4 B) 6 C) 8 D) 10
A man walked 25 ft towards North, then took a right turn and walked 25 ft. He again

took a right turn and walked 50 ft. How far and in which direction is the man from
the starting point ?

A) 25 ft to the South-west B) 25+/2 ft to the South-west
C) 15 ft to the South-west D) 1542 ft to the South-east

The angle between the minute hand and hour hand of clock when time is 3:20 is

A) 20° B) 30° C) 40° D) 50°
-06-
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377 -3? ) )
71. 34 @& Gy
A) 34 B) 36 C) 38 D) 40
4 16 . . . .
72. 4ﬁ+ﬁ—[2—3—(1—2)]+X:0 TG T6V, X Q)67 LOGILIL] 6T6HTas 2
A) 2 B) 3 C) 4 D) 5
73. X etevtigy Y @etr 125% gy @ib. X +Y = 90 eravfled, 2X — Y @)et7 0F)IL) @FD @ FLoLb
A) 40 B) 50 C) 60 D) 70
74. e apuearwumart 25% serapLly 0s1(HSS LinE 25% gLt OLmy@ .

75.

76.

77.

78.

79.

80.

Fhengallenevd@Ld ClFway allemed @b Qe ulewres all%sseamsd sessTL_Plia Lb.
A) 5:3 B) 2:1 C) 4:3 D) 3:2

@bg Cuir 2 prsefled 20 wosiseer Geul’ L (wpigujib. @ bLg G 3 Bl ser
Couevev OlFUIFTGD, 618SeMasT LOIEIGET Gleul” L LILI(pIb ?

A) 60 B) 90 C) 120 D) 150

g6 52 (pp eTaTHallcy 616w 2 6TSFeT (Lpewp GCHmemiib 2

A) 14 B) 15 C) 16 D) 17

@5 GO’ L ol @ Gwmfuiley EDUCATION ereirgy JHPFBNRDB

6TeoT GT(LPSLILIL (ReiTangy. 3yps GOl (B OwmySuiiey MEDICINES eriiig

TIPS LILI(HILD ?

A) ZUJHRXRBJM B) YJHRXRBJP

C) ZJHRXRBJL D) XJHRXRBJN

3 Qsrisfunest (Lpp eTevssaiesr OLBESMLIGVET, 6T IGLITGID Q)FeTTed

QU@ LI(BILD

A) 4 B) 6 C) 8 D) 10

R(h LoefFeT auL & CrrsG 25 9ug pL_hsrer, LD aevgiLpid FHbLd 25 g
BL_bST6T. 96T LET(HLb auevgiLmLd HhLbL 50 wjg BL_bse. oelgeT COFm_ssL
yerafluleSpp5I eTaieuara) SIILb 61hsd FevFulled Q)HSH D6 ?

A) GCsarCLonHev 25 9yig B) QsaCupHab 25~/2 g

C) QsarGup&ed 15 9y1g D) Qser@ipsRed 1542 =g

G 3:20 95 QrEGLd GG, H195TISS6T FILOIL (LpeiT LoPmih Loewfl GBI (LpeiT

Qe Gur 2 eirar GHmenTLd
A) 20° B) 30° C) 40° D) 50°
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81. Fill'in the blank using correct tense form of the verb given in bracket.
I (stay) here till Sunday.

A) will stay B) will have stayed
C) will be staying D) stay

82. Choose the right option that suggests change in voice of the sentence.
Please draw the figure.
A) You are instructed to draw the figure. B) You are requested to draw the figure.
C) You are ordered to draw the figure. D) You are implored to draw the figure.
83. Fill in the blank using suitable preposition.
I walk ten miles without getting tired.
A) must B) should C) can D) will

84. Complete the following sentence using appropriate question tag.
It is not raining,

A) isit? B) isntit? C) willit? D) wontit ?
85. Combine the two sentences using suitable correlative conjunction.

It is not useful. It is not ornamental.

A) not only...but also B) both...and C) neither...nor D) either...or

86. Choose the synonym of the word italicised in the sentence from the given options.
He was killed in the battlefield.

A) Confiscate B) Slain C) Outnumbered D) Defeated
87. Fill'in the blank using appropriate gerund form of the word given in bracket.

Do you mind (share) some pictures of your trip on Facebook ?

A) to share B) sharing C) being shared D) to sharing

88. Substitute the words underlined with a suitable phrasal verb.
The Director summoned me and asked for an explanation.

A) send down B) send for C) sendin D) send on
89. Fill in the blank using suitable preposition.

He felt no qualms borrowing money from his friends.

A) to B) about

C) for D) no preposition needed

90. Give the correct spelling of the adjective that means careful or taking great care.
A) Conscientious B) Conscintious

C) Conscientius D) Concientious
A -08-
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91. ‘Blog’ eretrigesr sLllprdasib
A) @eewrwih B) auemeviiyy C) auewevdgarib D) auemevriigsid

92. Gaiigg e1(psis. smp + Cammed = ?

A) smpsGxmed B) smpGsmev
C) smpsGsmed D) @aeuppleb 61510 Lhlcvemev
93. ‘wemavCo®’ e1ewyb GlLimper H@HLd C)FmeL/C)F Mm% 6T
) yefewrid ) wierggmeng ) erésir V) o liLengsmeng
A) LN IV &f 1 saumny B) LI IV &f lll g6umy
C) LI &M IV sauny D) yewewggib Fiil
94. shwner wgyg0lsm_ii/CFmL_iigseT 2
) wrewesr eflpyd 1) seimny ssmyb ) ypews gevmyd 1V) 4ed 2 mywptd
A) LN IV &@ 1 saumny B) LI IV &f Il g6umy
C) I, IV gaumy II, NIl &M D) yewewggib Fii

95. ‘s eretip OFmeveyd@ o Mw Glumper sums GlaFmed 61g 2
A) gm” & B) wmemesr C) wgsHer Gaur D) sevrenfl(Hewio
96. shwner ClemODITLii 6185 2
A) giBsns simsig OFiiubaleaar 1B SIBIFSF ClFwnLimTe
B) ansisng simi@e aim®d CFduh aleoer gimisns GlewmLimev
C) Qeuiyib alewest H1BIGHS FNBISDS CFWUDHLITE HIBISTH HIBIFSF
D) andigs gimi@d QFupLITew HIBISHS HIBI%STEH ClFiiuh alenest
97. 9Mda erpsis. Glaupplenev
A) Qeupm) + @emev B) Gaumy + @emev
C) Geauppy + Qevev D) Qeupewio + @emev
98. Bpssresyid Clwisefled CUITHESTS @)ementenwids &BILILHS5.
A) g — saflmy B) Yewewr — sewev C) iewewr — ermy D) wi® — s®eust
99. #peL Deopwpp CsT_emis Csieay ClFuis.
A) Qerevev s@BSweupenp CsL CLimi gy ieuLpL 6T eIPmid0lsTeT@HLD LIlg FnD
Garesm(@ib
B) Gamevevd smp@uweupemnd Cs” Guimi gy ieuwpL 61 emmis OlGIeTanbLIg Fnp
Ceustr @b
C) Gemevev sBFweaipedns Ca” CLimi yieupL 61 eIDmISOSTHT@HLD LIy Fap
Gauesr(hLb
D) Qemevevs s@pFweupenp CsGumi gy iauwpL 6T epmid ClETeT@FLbLILY FaD
Garesm@ib
100. @@evn LchTenio Leipser ypp ClsTL_ewgd Cxiay GlFuis.
A) BIGT LITTSSS eOUSHGT 6T B) mresr Lumisss emar oesmy
C) presr LMi$sg1 A% e D) mresr Lmigss 24g eI
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Space for Rough Work
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Space for Rough Work
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82196l (@AM
@2106 Jnl ) @OBHDBHIW
@103 )6IB8810S @6 ag)emo : 100 mawo : 90 almlg’
aloaoauiwl @od#esy : 100

983 YMNIAMIIHWDH6188 MIdEGUeaBUd

1. 82108 £:SRIOQ P@EIM 62103 aly s galodiesm. A, B, C, D agarl moel @oeso eeowymslenes
32103 ol (RBHETBSOEM MMM

2. 62108y aliREOTIONR MBEM E0SE QLDEIT (A IGM )B> BEORBTM G20 Y0 13MRE @O G0 @0 Slaflgiens:.

3. 80800 963YNIdMAEe 30 NWLIVISIRS 62106 J01)(VE> BOLHO G0 @IS aldlemd anogloal edlal
SOOIGRHINDENSHOOIWIEN

4. mlemdenmiElaflaleeiam @oeHo 85wl mlimio QUYMIROOW BHOWILIIES G213 ali(MROHMO6M’
eIElBOIMO®BT @@ 9SS! MANlerIg0es CBRLYITINR|SIBETENE®OM.

5. 6210BJ01iMEs (BHOMMUD all0o 2ISWIOS QUBIMIINED MISEREDOR] GoIBETISINE. (EBAMMIA LoD
32106 Jo I} (RHDO6N MIE08(006) RIEIHHIMODESIM BOED BOHAOC GHOUNLIRER 210G 0130 MOF] QIOEIBYE:.

6. 62108y alio QILI®y 20dHMI@ naLYBONEMOIR] MM 621QdlEni0. HEDONLIHOMISS @M IA
2IE2]0LIRI0O® G2I0BY all(Ndho MIOBHIM aloslg).

7. aldles mysedloelsm 9eaymodmd mailes eI aldeeinm 62106y alie-emiad 100 eo10aysBs 10 (@:0m0w]
BBENE0 ag)(M al@IEUUIEHHENS®IET. B2 I0B) aly(RHHOTID @0 SIEOHIBME®I, HICIWEI, N5 I0WE®I
BOW GalRyd0d HEMBIIL); GPLANID H66NEE:IT @OH6I0 0 HMAEErIgnns YyERLEAT OE06MBINIBIEW0
@OE® EOHHO BHOWILYSS aRBEMDOW 62106) alyReo MOFl QUOBYH® L0 H2IEYEBMOEM. EO® aBRII0
(IWOMEQIS®OEM).

8. 7 ea108)ealgdleal 1 aymed 80 cuerw)as @21068)6Bw sogflatilele mdlvlamowl @raydlafdleniom). oo
@2103)61B8)6'S @RAMmA0, MDA ag)MTilau uosnImUl) Mod@EMBWRES) eoiflati mOW YA ETIRIISS 2106 JETRSOEM
@DUWIDRIHH M.

9. 62108Y al}REOTOM @OAINVOM Galgdlng OmMOSIMIDal BIMN0 ag)PABOTD M6NS Gale)B(d B2IBBISIENS. @
HOMOO H6NBLANISlHNIM@IMIBE  dr)Clalid@BH60Q) HaIEIUlHHONILM®IEM.

10. 9omEaBW craIOQSIEMOM EREEGNMEIM aymi’ demaensadmilan anialjoamgs MAeGweaBRUd
©aLIAIIBOo AUIOWBN}e:.

1. ndwiemoo 9Weqes 80600 ealosyowimioe (A), (B), (C), (D) agam moel samessd mmidleso.
WIOMHOO0 OBOOEHMHSYOD) 6. agf)o. @DD. HEBOLHSLIOMVIM eNIMOR|S 62106 MM EMHOW IR LTWIEBT0
agaflafleeyam eialg (srienlid) moi®o MRIBWO B048a 0 6RIOM Ealoaf 8alh 9aleoulla] d@0a leee:.

12. 89602 NAWEMEETIMm 80 20BH6 BIE1BN 18D jo BIERI OMREMAEIIMo 1/3 @0dH66 Maymo)®:@ 0
6.21Q)Jo. HOMOO BOEUAQISIOMOMD B2I0BIETBWRHE MODES Moy JB@lg).

13, aidleso vnwo &F@imMaiaimyemio, semeensemimaleerigeo apmae |lenonmend oy oesmnodmdwio
al@::0000@ ANlg 0 l}OE®IGAIOE00M aloslgl.

14. ade3uemwd :A0maow aloellesnanzmosm’. ald&dQ]ad (@AGHNS MSAMBHEWI @OGIMISS Uymo
MSOM BB 6.21QIM HEBPMNIDMLB:08 EREWON JPOQS] (al6 Joallenimmoem.

A -30-



